
Lattice Gazebo                                                                                     www.foreverredwood.com 

     

866.332.2403; Outside the US: 619.600.5630 8am-5pm Pacific Time, Monday-Friday 

 

 

Assembly instructions for: 
LATTICE GAZEBO 

 

 
 

 

 

 

 

 

 

 



Lattice Gazebo                                                                                     www.foreverredwood.com 

CONTENT OF BOXES 
 

QUANTITY DESCRIPTION DRAWING 

4 Posts  

 
3 Bottom  Panels 

 
3 Upper Panels 

 
1 Front support timber 

with decorative 
cantilevers  

4 Roof timbers 
(two of each one) 

 
Quantity will 

vary depending 
on size 

Roof panels 

 
1 Skylight 

 
Quantity will 

vary depending 
on size 

Rafters  

 
4 Plaques for corners 

 
 

 

 

 
 

 



Lattice Gazebo                                                                                     www.foreverredwood.com 

ASSEMBLY INSTRUCTIONS 

All Gazebos are completely erected in the shop prior to crating for shipping. All hardware is included. All 

parts are fully sanded, routered, notched, drilled and numbered for ease of reassembly. The parts that go 

together have the same numbers/letters written next to the predrilled holes they attach to. 

 All Gazebos parts are notched into the part they connect to. You'll find the numbers next to the notches 

and/or drill holes. Before beginning re-assembly, place the parts that go together on the ground with one 

another so you don't have to be searching around in the middle of the reassembly. Most Gazebos take less 

than one day to reassemble with one helper.  

Note: print the drawings that you approved before start the construction, they are needed to see the 

distances between the posts. 

Step 1. Attach your anchor kit (if you ordered) to the ground. See the distance between the posts shown 

in your approved drawings. 

   

 
 
 
 
 
 
 
 
 
 
 
 



Lattice Gazebo                                                                                     www.foreverredwood.com 

Step 2:  Attach posts to lower & upper panels with deck screws (3”X #8) per side.  Screw from inside of 

panel frame into the posts. Match up the numbers to attach the correct two parts together. Repeat this 
step with other two posts and panels and then attach the back panels. 

   
 

 

Step 3: Attach front support timber with decorative cantilevers to posts with deck screws (3”X #8) into 

each post. Match up the numbers to attach the two ends to the correct sides.   

 
    

 

 
 
 
 
 
 
 
 



Lattice Gazebo                                                                                     www.foreverredwood.com 

Step 4: Attach the 4 roof timbers together to form the base of the roof.  Use a plaque and four lag bolts 

(5/16” x 4”) per corner.  (Match up the numbers to attach the two parts together). Insert the bolts of 7 ½” 
to attach the roof panels and then place the frame base above the walls. 

 

 
Attach the roof base to the walls panels with lag bolts 

 

 

Step 5: Attach 6 of the center rafters to the rooftop with bolts (4”x 5/16”) washers & nuts. One per 

rafter. (Match up the numbers to attach the two parts together). Tap the bolt all the way into the wood to 
set it. Then add a washer  and nut and lightly tighten. 

 
  

 

 
 



Lattice Gazebo                                                                                     www.foreverredwood.com 

Step 6: Attach the corner rafters to the rooftop with bolts (8”x 3/8”) washers & nuts. (Match up the 

numbers to attach the two parts together). Tap the bolt all the way into the wood to set it. Then add a 
washer and nut and lightly tighten. 

 
 

Step 7: Attach the rafters to base of roof with bolts (6 ½”x 3/8”) washers & nuts. (Match up the numbers 

to attach the two parts together). Tap the bolt all the way into the wood to set it. Then add a washer and 
nut  and lightly tighten. 

 

 
Step 8: Attach the roof panels to rafters  with deck screws (#8 x 3”)  (Match up the numbers to attach 

the two parts together). Tap the bolt all the way into the wood to set it. Then add a washer and nut and 
lightly tighten.  Continue with the other roof panels. 

           



Lattice Gazebo                                                                                     www.foreverredwood.com 

 
 

 
This completes the Gazebo assembly. Hope you enjoy your set for many decades. If you ever have a 

problem or a question, don't hesitate to call us (866 332 2403) or email us. We are here to support you. 

 


